Present perfect – negative
Zápor v předpřítomném čase prostém (Present perfect) vytvoříme v angličtině jednoduše tak, že přidáme zápor „not“ k pomocnému slovesu "have / has“. Také v případě záporu předpřítomného času dávají v angličtině přednost staženým tvarům.
I / You / We / They + HAVEN'T+ PŘÍČESTÍ MINULÉ
He / She / It + HASN'T + PŘÍČESTÍ MINULÉ
 
	I have not finished yet.
	I haven't finished yet.

	You have not finished yet.
	You haven't finished yet.

	He /she/ it has not finished yet.
	He/ she/ it hasn't finished yet.

	We have not finished yet.
	We haven't finished yet.

	You have not finished yet.
	You haven't finished yet.

	They have not finished yet.
	They haven't finished yet.





[bookmark: _GoBack]Complete sentences:
I………………………………………(plan) a party.
You …………………………………(break) the China dog.
He ………………………….(go) to school.
She ……………………….(watch) TV.
It …………………………..(be) in the family since 1930s.
We ………………………..(go) to the cinema.
You ……………………….(repair) the red car.
They ………………………(leave) me in the house on my own.

